Distributed By

Rosenberger

Rosenberger Site Solutions, LLC
visit wwww.RosenbergerOnline.us

C10223120 12 FT. HC ROOFTOP SECTOR MOUNT

NOTES:
1.

)
=7,
Gé\v"

ANTENNA MOUNTING PIPES AND CROSS OVER PLATE KITS MUST BE
PURCHASED SEPARATELY.

(44) 8 X 8 X 16 CONCRETE BLOCKS (CMU) MUST BE PURCHASED
SEPARATELY.

. ALL BOLTS ARE 1/2 @ X 1 1/2 A325 UNLESS NOTED.
. AN OPTIONAL MAT FOR ROOF PROTECTION IS RECOMMENDED. MUST BE

PURCHASED SEPARATELY.

ANGLES + 1/2 DEG.
DECIMALS + .010"

TOLERANCES DO NOT APPLY
TO _RAW_MATERIAL

Towers and Poles

08/04/20 [WRF

EK

REVISED ITEM 8 (WAS CS03755)

REV

DATE

DRW

CHK|

DESCRIPTION

CONFIDENTIAL

This document and the information
contained herein is the confidential trade
secret property of Sabre Communications
Corporation ("Sabre”) and must not be
reproduced, copied or used, in whole or in
part, for any purpose without the prior

written consent of Sabre.

© 2020 Sabre Communications Corporation.

All rights reserved.

(NON—-PENETRATING)
NO ANTENNA MOUNTING PIPES

(1) C10223112 12 FT. HC ROOFTOP SECTOR MOUNT (NO RRU RACK) 528#
(1) C10223115 RRU RACK 1814
SEE NOTE 1 TOTAL WEIGHT T09#
C10223112 12 FT. HC ROOFTOP SECTOR MOUNT
ITEM [ QTY. [ PART. NO. DESCRIPTION WEIGHT
1. 1 CS03749 | ANGLE, SIDE 25
2. 1 CS03750 | ANGLE, SIDE 25
3. 1 CS03751 | ANGLE, BALLAST 24
4, 3 CS03653 | ANGLE, BALLAST 75
5, 1 CS03752 | ANGLE, FRONT VERTICAL 35
6. 1 CS03753 | ANGLE, FRONT VERTICAL 35
7. 1 CS03754 | ANGLE, FRONT DIAGONAL 27
8. 2 CS03809 | ANGLE, SIDE DIAGONAL (OUTSIDE) 53
9, 1 CS03657 | ANGLE, BOTTOM DIAGONAL 23
10. | 2 CS03658 | BENT PLATE 1
1. | 2 | c10901313 | PIPE, 2 7/8 0.D. X .203 X 13—0 157
12. | 6 CS00107 | ANGLE, CORNER 3
13. | 2 CS03664 | ANGLE, TIE—DOWN 27
14. | 2 | 40026004 | BOLT ASSEMBLY, 1/2 X 1 3/4 A325 1
15. | 22 | 40026003 | BOLT ASSEMBLY, 1/2 X 1 1/2 A325 6
16. | 2 | C40047001 | RINGFILL, 1/4” THICK FOR 1/2” ¢ BOLT 1
17. | 4 | c40034025 | U-BOLT ASSEMBLY, 5/8 ¢ X 3 9/16 7
18. | 4 | 40039008 | J-BOLT ASSEMBLY, 1/2 ¢ X 9" ID. 3
[ TOTAL WEIGHT 528
C10223115 RRU RACK FOR 12 FT. FACE ROOFTOP SECTOR MOUNT
ITEM | QTY. | PART. NO. DESCRIPTION WEIGHT
19. | 2 CS03757 | ANGLE, SIDE DIAGONAL (INSIDE) 30
20. | 2 | 10981205 | PIPE, 2 3/8 0.D. X .134 X 5-3 34
21. 1 CS03758 | ANGLE, RRU PIPE DIAGONAL 19
22. | 4 CS03663 | FLAT, RRU SUPPORT DIAGONAL 4
23. | 4 CS01757 | UNISTRUT, 1 5/8” X 1 5/8” X 100 76
24. | 8 | C40026003 | BOLT ASSEMBLY, 1/2 X 1 1/2 A325 2
25. | 8 | C40032025 | THREADED ROD ASSEMBLY, 1/2 ¢ X 0'—8 8
26. | 2 | c40047001 | RINGFILL, 1/4” THICK FOR 1/2” ¢ BOLT 1
27. | 16 | C40048002 | PLATE, BACK—UP 2
28. | 6 | C40034139 | U—BOLT ASSEMBLY, 1/2 8 X 2 15/16 5
| TOTAL WEIGHT 181
ISOMETRIC VIEW
(CMU SHOWN PARTIALLY FOR CLARITY)
UNLESS OTHERWISE SPECIFIED MATERIAL:
ALL DIMENSIONS INCLUDE
FINISHES AND ARE IN INCHES _— . ? 12 FT. HC ROOFTOP SECTOR MOUNT
TOLERANCES: FRACTIONS % 1/16” Sabre Industries WITH RRU RACK

SIZE DRAWING NO. REV
DATE 03/03/20 B C10223120 ].
DRAWN BY WRF SCALE PAGE
CHECKED BY EK None 1 OF 3




7-31/8"

27)\25)23

Q.

16 (14

EACH SIDE
8

22)24)28

000

SEE NOTE 2
(PAGE 1)

inl

N

=

3,—6"

r.ﬂ.

2'-0 3/4”

&

I b ool

Distributed By

VIEW A-A

Rosenberger

Rosenberger Site Solutions, LLC

visit www.RosenbergerOnline.us

SEE NOTE 1
(PAGE 1)

711"

[

la

TOP VIEW

UNLESS OTHERWISE SPECIFIED

ALL DIMENSIONS INCLUDE

FINISHES AND ARE IN INCHES

TOLERANCES: FRACTIONS + 1/16”"
ANGLES + 1/2 DEG.

DECIMALS + .010”

MATERIAL:

TOLERANCES DO NOT APPLY
TO RAW MATERIAL

Sabre Industrlej

Towers and Poles

08/04/20

WRF| EK

REVISED ITEM 8 (WAS CS03755)

REV

DATE

DRW|CHK

DESCRIPTION

CONFIDENTIAL
This document and the information
contained herein is the confidential trade
secret property of Sabre Communications
Corporation ("Sabre”) and must not be
reproduced, copied or used, in whole or in
part, for any purpose without the prior
written consent of Sabre.
© 2020 Sabre Communications Corporation.
All rights reserved.

12 FT. HC ROOFTOP SECTOR MOUNT

WITH RRU RACK

(NON—-PENETRATING)
NO ANTENNA MOUNTING PIPES

SIZE DRAWING NO. REV
DATE 03/03/20 B 010223120 ].
DRAWN BY WRF SCALE PAGE
CHECKED BY EK None 2 OF 3




9/16 ¢ X 11/8 2"
| |
=R T —=—F+ ===
S s e e N i N
i— ————————— —

UNISTRUT DETAIL

Distributed By

Rosenberger

4:_011

4:_011

SEE UNISTRUT DETAIL

1'-5 13/16”

1 ,—6”

VARIABLE
2'=0" MAX.

UNLESS OTHERWISE SPECIFIED

FRONT VIEW

(SHOWING ANTENNA SPACING OPTIONS)

MATERIAL:

ALL DIMENSIONS INCLUDE
FINISHES AND ARE IN INCHES

TOLERANCES: FRACTIONS + 1/16”"
ANGLES + 1/2 DEG.
DECIMALS + .010”

TOLERANCES DO NOT APPLY
TO RAW MATERIAL

Saﬁglndustriea

Towers and Poles

CONFIDENTIAL

This document and the information

contained herein is the confidential trade
secret property of Sabre Communications

12 FT. HC ROOFTOP SECTOR MOUNT
WITH RRU RACK

(NON—-PENETRATING)

NO ANTENNA MOUNTING PIPES

R " SIZE DRAWING NO. REV
Corporation ("Sabre”) and must not be
s 5 reproduced, copied or used, in whole or in
ROSE"bETQEF Site Solutions, LLC part, for any purpose without the prior DATE 03/03/20 B 010223120 ]-
T " tt t of Sabre.
visit www.RosenbergerOnline.us 1 {08704 720 [WRF| EK [REVISED TTEW B (WAS CS03755) © 2020 Sabre. Communiaations Corporation. ForAVN_BY WRF SCALE PAGE
REV| DATE  [DRW|CHK DESCRIPTION Al rights reserved. CHECKED BY EK None 3 OF 3






